EARAROBREBRT —5 XN—ZXBISH—F

2024548278 (£) 3ER#3H

4R EEEY

REEF

U] MHin

EEENEEE

Z 16000 R

[x&%] 1 7& :5,500,000 @ .~ 23&:2,200,000 @ 3 & :1,400,000 M

/435 :830,000 5 3&:550,000 F

B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
=\ * st 3 | JIERAE 1:33.0 1-1 35.21 90.6 | 2 482 | PRHEFEE (FR)
118l16| =V I2TIAL 57.0 ) o) | TRWT ¥
R:O—RAFO7 B:IUANIAIZVD S—L—- TNV - T7—LERE
TR s 3 | FIHEZ 1:33.5 2-2 35.5(8.5| 5 486 | BIEE (RFR)
218l15| X751 57.0 G1/2) ) |BEL—YVT
RiFRXF B:7VND-T ok
» w3 4 3 | ERFN 1:33.8 6-5 35.4| 8.3 9 492 | FHET &R
3012 | FILRIYY 570" a1 Ly | HEE
R:TJ—=)LRI—-R &:T74—rA0O0—R B RE
= s 3 | SHEW 1:33.9 14-11 | 34.5)80.9 | 13 | 4% |BENEE ER)
J—FT4—LVD 57.0 (/4) () |EERE
RIIET7RA7 H:LyRIEIL J—HUTr—1
= N Patanzd :33. - . . BENE (FER)
F—A—ON—~ 33 P 1(/331)9 8-7 35.1]81.2| 6 (4_128) e
RiUFAVF4—R B:HTIRIR BEZ77—LA
W H— s 3 | EIEFKAL 1:34.1 5-5 35.7]79.4 | 8 408 | BtERZ (RR)
IOz vy 55.0 (1 1/4) -6) ;%%E ()
Rib=—ROTPvhL B h—HROF 4 7—F e =4
D N 4t 3 | HELLEs, 1:34.3 9-9 35.2|77.0 | 4 | 476 |BE (ER
NdhY v —AX 55.0 (1172 +12) :?ﬁi) FATIY N
R:EwI7—8— B:IIMFYNF—9 FEEAKS
Sy - 4 3 | RHEE 1:34.3 3-3 36.2| 77.7 | 1 504 | KIEEAN (BER)
Y—HY— 57.0 F5) @) |TARL-97
R:Frankel #:¥TvbhEyvFoVT /=3I r—1L
S H = w % 3 | PlaEX 1:34.5 6-7 35.9] 75.4 | 10 | 468 |SHE— (FH)
AAATZ v 57.0 (1 1/4) (+4) LZEE?
RiZvF—74) B:TFUIVTH #HE77—LA
p ¢33 4 3 | ERPEt 1:34.6 4-3 3.4 749 | 3 458 | ROSWER (FH)
FALITAK 57.0 58 @) | @B F-OIZK
R:AVTAIW=ZFI0—L B:HSAIAALAR BREMt SHI7—LA
“w EMB= 234, - X . HFEBT (FR)
N 4t 3 oo (11 334/;9) 9-9 35.8]71.2 | 14 (1_1(1); b 1%1_7
RNT B:iSAYN—b VAT 945T7—1
— ~ — s 3 | AURAIZ 1:35.0 11-11 [ 35.8| 70.2 | 16 | 398 |H=E (FEF)
12|5|9 | A—IAYTU—=0T 754.0 (3/4) oy | @ esn-Fu—s—x-31=7
RIIET7RA7 B:A—IATFHA b RIS
SR IV 4 3 | ERH 1:35.2 12-11 [35.9] 68.2 | 12 | 474 |REBX &R
13/8]17| YOV E/N 57.0 a1 (| BB~
RIET7RA7 B:N—r7YRN—=K ==t
~ ~ 3 | BOBX 1:35.3 12-14  [36.0| 67.3 | 7 | 508 |BREREE (F=R)
141713/ NDAT7T7PA(TY e 356.0 1/2) (o) |TELT Y
R:0—RAprO07 #:RyF7«43Y F—U— - Iv/\Y - T7—LBRR
. e WERS 135, - . . IZNER (FER)
5 g | N/ E—N— B3 Hi 1 (315; 5 16-15 | 35.5| 64.6 | 17 z:g;t et
RiFRXF B:IU—VTPUF+— EpuL:e]
~ . — REEE :36. - . . IZNEX (FE=F)
161111975727 it 3 gos 1(37636 14-15 | 37.1] 56.3 | 15 5_9(3 sl
RiAFA40 B:7RIAVHIS HEEANS
vy A _ s 3 | ERRHEN 1:37.8 17-17 | 37.4| 45.5 | 11 | 460 |HKEXR (RR)
17008 4 | Ny ¥ FTHF— [B] 57.0 @ ) W) G1L—vvo
RTUYIRTFYREWIINL B:T4—VFv—LA BHIT7—LA
[ BN
Eh' 47.0-35.2
NOYSA L | 12.4-10.5-11.2-11.9-11.8-11.5-11.6-12.1
@ 11— —BBIEfI
13—7+—
20—7F—
30—7— 16,15,3,7,11(2,14)10(5,12)9(13,17) (1,6) -8,4
43— — 16,15(3,7) (2,11) (10,14) (5,12) (6,9,17) 13- (1,8)=4
o ILRE
B B 16 2604 JA R 15-16 980M4 & 8-8 3,900 3EE 2-15-16 32,560M
g B 16 180M 2-16 1,560 5 & 15-16 3,950 3EH 16-15-2 108,120
15 1,000 2-15 6,690M =51 16-15 5,930
2 1,150

ABIC OV TRUTEREERRODDZE. THRIIZEL.




